Assignment 2:

Solve the following linear programming problems. If you wish, you may check
your arithmetic by using the simple online pivot tool:

1 maximize Gry + Srg + Hrg + Oxy
subjectto 2xq + To+4+ xe+3xy<H
ri+3rs+ ra+2ryg=3

*y, Ta, Ty, ¥q =0

2. maximize 3r; 4+ 2ra
subjectto xy — 2w £ 1
ry— o= 2
2r; — 2= 6
Ea | = 5
e+ w16
ri+ ma<12
x4+ 2rs <21
g < 10

Ty, ra = 0.

3. minimize x4+ Srgs + 9ryg + 2rog 4 Troy +3rgy
subjectto  Ta4+ Tiz+ T4 =1
—rqg + Taz+ T =10
—T1g — Tog + xge=10
T14 + T+ rag =l

rig, T8, ... rag = 0.



